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1. The question paper comprises Six Sections — A, B, C, D, E and F. There are 37 questions in the
Question paper. All questions are compulsory.

2. Section A — From questions 1 to 20 are MCQs of 1 mark each.

3. Section B — Question no. 21 to 24 are Very Short Answer Type Questions, carrying 2 marks
each. Answer to each question should not exceed 40 words.

4. Section C contains Q.25to Q.29 are Short Answer Type Questions, carrying 3 marks each.
Answer to each question should not exceed 60 words

5. Section D — Question no. 30 to 33 are long answer type questions, carrying 5 marks each.
Answer to each question should not exceed 120 words.

6. Section-E - Questions no from 34 to 36 are case based questions with three sub questions and
are of 4 marks each. Answer to each question should not exceed 100 words.

7. Section F — Question no. 37 is map based, carrying 5 marks with two parts, 37a from History (2
marks) and 37b from Geography (3 marks).

8. There is no overall choice in the question paper. However, an internal choice has been provided
in few questions. Only one of the choices in such questions have to be attempted.



9. In addition to this, separate instructions are given with each section and question, wherever
necessary. 10. Note: CBQ stands for “Competency Based Question”. 50% weightage allocated for
competency-based questions.

Section A MCQs(1X20=20 Marks)

1. Who among the following was the architect for the Unification of Germany?
A. Otto Von Bismarck. B. William 1. C. Fredrick Ill. ~ D. Napolean

1. Fafererd 5 & &9 ST o TR0 HT JEqHRTE aT?

A. 3T 19 faeqTeh B.faferw 1. C.®fE® Il D.aqrfera+

2. ldentify the crop with the help of the following information

It is a crop which is used both as food and fodder.

It is a kharif crop which requires temperature between 21°C to 27°C.

It grows well in old alluvial soil.Options:

A. Wheat B. Maize C. Rice D. Sugarcane

. FFfafed SFeR & eadl ¥ BUd & UgdH &L

I8 Ueh W Ud § foeT STanT HIeH 3R IR aFl & U H fHar odr 3|

I8 U TP Bd g e fal 21°C § 27°C & S A0 &1 319Rahdl gidl g
1T R Siele gt 7 oredt ave Id & Ifdey:

A. T8 B. Hdd] C. J19d D. T

3. In India’s federal system, the Central and the State governments have the power to legislate on
all those subjects which are included in the:
A. Union List B. State list C. Concurrent list D. Non of the above

. HRA B SO G H, % 3R Iod BRI D1 3 TH fawal TR S S B1 ad & o 399
M &
A. 9 It B. IS4 C. Had gt D. SWRIad A ¥ PIg ol

4. Which of the following pair is correctly matched?

A. Alluvial Soil -Gangetic Plain B. Black Soil-Himalayan Region
C. Arid Soil-Western Ghat D. Laterite Soil -Desert Area
4 Fofofad o 9 &1 91 SieT 98! gafed 82

A. STdrg gt - 71 &1 fem B. il gt - femmea &=

C. g fhgl-ufgdt gre D. dlexrse fAgt-RAam &=

5. Which one of the following is an example of ‘Coming together federation’?

A. India B. USA. C. Belgium D. Spain
Frofoia § &9 91 T 1Y ST TR T SSTER 872

A. YRd B. Tgad I AR C. sfesrad D. WA
6. Which one of the following is a formal source of Credit?

A. Relative B. Trader. C. Money lender . D. Cooperative society

. M & & 19 97 307 &7 q=T® Jd g2

A. freqamr B. =TI C. 9TgFIT . D. HgwT gt

7. Arrange the following in chronological order:



I.  Print culture created the conditions for the French Revolution

[I. Martin Luther’s writings led to beginning of the Protestant Reformation

[ll. Menocchio reinterpreted the message of the Bible

IV. Johann Gutenberg invented Printing press

OPTIONS:

A. lILILI&IV B. LILIN&IV C. IVILI&I D. IV,IL1&I

8. Which of the following is the true meaning of 'Equal treatment of women'as a necessary
ingredient of a democratic society?

A. Women are always treated with respect and dignity.

B. It is now easier for women to legally wage struggle for their rights.
C. Most societies across the world are now women dominated.
D. Women are now treated as equals in the political arena.

FRfIRId &1 HTArIHHS HH § Faredd By

|. 0T AP A A WA whifd & fore uRkfRufaat FAftfa &t |

facia. T R & aRa T Tie e GUR &l YIATT 63 |

qad. . B A STSfad & WS Bt YA B |

aqd.  Sier et A fiife O w1 enfaseR fasan |

famey:

A LIV B. 11L&V C. IV,IIL1I& | D. IV,I1,1lI& |
. AidhdiA® THS & U HaRID g & & U H AR & I HH gdeR &1 Jal o Fafafad
Y HHATR?

A. AfEQTSH & TTY THRM T 3R TRAT & 1Y TdeR b1 I g |

B. 31§ Afarsf & forg 3= SifIBRI & faw w1 U I Jud HRA1 3 H 8 T ]|

C. g R ¥ Sifie IH 3ra Afea UuH

D. Afgarell & 3F IeHifae &7 H UM JHT ST ]

9. Which one of the following countries adopted majoritarianism in their Constitution?

A. Nepal B. India. C. Sri Lanka D. Bangladesh
Fofafea o @ feg 32 7 3ua dfgu™ & SgeRegsare & 3uHmr?

A. =UTd B. YRd C. idia D. SRR
10. Choose the correct option from the following:

List | (Example). List Il (Sector)

A. Courier Tertiary Sector

B. Fisherman. Secondary Sector
C. Carpenter. Primary Sector

D. Transporter. Secondary Sector
frgferad & 9 Iet faded I

Tl | (IeTeR). Tl 11 ()

A. BRIR s &=

B HZ3M| fecoes a=



C. §¢s. Il &=

D. TR, EGIRERE]

11. Awoman works at a sweet shop in her village on a contract basis and gets meagre salary after
working the entire day. She doesn’t get any holidays or paid leave, rather her employer deducts
her salary whenever she is absent from work. Find out in which of the following sectors she is
working? 1

A. Primary Sector B. Service Sector

C. Organized Sector D. Unorganised Sector

11. U AfRAT 30 id & U f3TS P ghM WR Y P YR WR HTH HRd! § 3R R fod dm

H & SIC 34 9gd HH dd- Al g1 I BIs gied! a1 Jdd-d SaHI ol (Hadl, dfew oF o 98
HIH Y U I8 8 dl ST (HaIaa] SUPT da- bIe ddl g | Ual ad fob a8 Fgfafad & 9 fog
&3 o HTH B B! 82

A. TTfie & B. TaT &

C. Tifed &= D. 3RS &

12. Which one of the following Project was launched in 1973?
A. Project Tiger  B. Indian Wild Life act C. Wildlife Act D. Indian Wildlife Protection ac

frafafied & ¥ & O aRaemT 1973 3§ T &1 718 o2
A. UIolae CI3TR B. HRAIT 9 Sita sififaw
C. ggvilg 3MfaHTH D. HRT a=oitg TRefur Sffafaq

13. There are two statements marked as Assertion (A) and Reason (R). Mark your answer as per
the codes provided below

Assertion (A): Sustainable development is essential for economic growth of the countries.
Reason (R): Sustainable development ensures that environment friendly measures are adopted
for carrying out production processes.

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both(A)and(R)are true and(R)isnotthecorrectexplanationof(A)

C. (A)is correct but (R) is wrong

D. (A) is wrong but (R) is correct

3 HYF HFHYT (T) 3R RO (3R) & w0 A fafgd g1 9 iU T ois & 3[ER v IR fifgd
oy

<Al (A): <20 @1 onfdfer gfg & for gad faer smawa 3|

PRUT (R ): Tdd (BT I8 YT 1 § [ ITe Ufchanstt &) OR1 H=- o foIe gaiero srg@a
JUT 3{UATT §U |

A. () 3IR (3R) GHT I § 3R (3(R) (T) BT e WHIBR &

. IHT (@) 3R (3MR) T § 3R (3IR) (Q) T Tt Wbl 81 §

1. (Q) ¥E1 g Wfeb (3R) TTerel §

D. (¥) TTad & A (3R) et &

14. The process of integration between different countries is called as
A. Privatisation  B. Globalisation. C. Liberalisation D. Competition

fafirsr 30 & ot TBTHRUT BT Ufshar B Hel a1 g




A. FAsitaor B. 3&fierur| C. JaRIHR D. Ufaegyf

15. Development of a country can generally be determined by.

A Its per capita income B. Its average literacy level
C. Health status of its people D. All Of These
foeit <=1 1 9o ArEaa: fohards g1 FMeiRa fasar o wear g2

A. 3@ i fad S B. SUDT 3d ATERAT KR
C. $Hb QN o ey fRyfa D. SWRIad g+t

16 Which one of the following aspects was common between the writings of B.R. Ambedkar and
E.V. Ramaswamy Naicker?

A. Wrote on the caste system in India B. Highlighted the experiences of women
C. Raised awareness about cultural heritage D. wrote about science and technology.
fafiad & ¥ &1 91 Ugd o, 3R SESHR 3R §.d1. IHRATH AaR. & oG- H JAF UT?
A. HRA ¥ STfd a1 R forat B. Afgcsfl & fIydl TR UehT=T STell

C. Uipld® foRad & IR & SFedhdl §gis D, fa SR Weifiet & ar & forar fean

17. The frequent storiesof_remind us that no system is entirely without short comings, even
democracies. Identify the issue being referred to from the options given.
A. Poverty B. Black Marketing C. Terrorism D. Corruption

. IR-§R 3 dTeh wel-ar g4 a1g feand g fob ®is off soawn gt ave @ Sl § IfRa 781 &, g8l
as b Aewaa Wt 811 i e fawedl # ¥ Hefifd 4 ®F g™ o3|
A. TRIE B. PIAETSIRY C. 3fdehdlq D. YSEIR

18. Name the writer of the novel ‘Anandmath’?

A. Ravindra Nath Tagore B. Raja Ram Mohan Roy

C. Gopal Krishna Gokhale D. Bankim Chandra Chatterjee
TS IUUN o AGDh BT A1H Id14?

A. AT 7Y STIR B. XTSI 10 {8 X

C. TIITd 8T I D. sfe dg gt

19 Which of the following is the main factor that led to the rise of multiple political parties at the
same level in India?
A. A federal political system B. Varied economic conditions.

C. Linguistic and regional diversity D. Low levels of literacy and political awareness
fafafed o @ oF 91 o7 FRS ¢ SIS SR URA J T 81 TR R $s ASHIaP gal Bl 3&4
gam?

A. T T IoHiTad aawl B. fafta snfdfe fRufaar|

C. YT9TS 3R & fafaerd D. TT&RT 3R AoHITe STl & 9 WR

20. Apart from the Central and the State Government, Belgium has a third kind of government as
well. Identify this third kind of government from the following options:

A. Democratic Government B. Socialist Government

C. Community Government D. Liberal Government

. Sfcorgn § g 3R T WBHR & MATal T dRR] ave &1 R ot B, Fofafed fosea § 3 39
AR UHR DI TWHR Dl U

A. AHdiAD IRBR B. ASIAIE] TRBR



C. UMHGI® IRHR D. 3GR WHR
Section B _(Very Short Answer Questions (2X4=8 Marks)
21. Give two instances of various international trade that existed before the
seventeenth century, one from Asia and one from the Americas.
. FAd! TdTed] ¥ Ugel Hivjg e SiaRTPy TR & &l Jarexul oY, T TR 4 3R T 3fReT
a1
22. Name the three physical factors that affect location of industries.?
ST Bt SafUfa H guIfad B a1d I Hifdd HRe! & 10 FATSU?
23. Why is decentralisation favoured in democracy? Identify any two reasons
. e B fadheimRor o) ot uie fasam SiaT 82 HIS & HRUT Ugang
24. Define term majoritarianism?
. SEUTADBAIG Xoq I GRHINT B2
Section C Short Answer Questions (3X5=15 Marks)
25. “The printing revolution has transformed the lives of people, changing their relationship to

information and knowledge.” Explain this statement.

"HGUT Shifel = TN F Sita &Y ded feam 8, GaT 3R I & 91y 3% R &) 9ed fear g1° 59
DI gAY |

26. What is slash and burn agriculture? Give two features of it.

H <89 Wl BN 1 82 391 & favamd Fargd|

27 The focus of politics on caste sometimes gives the impression that elections are nothing but
caste based.” Justify the statement.

S R oIS &1 e wi-daft a8 yRon ar g fo gama sifa snemid 8 & Sramar 3R $ T8l
g1 By 31 3 Rig Bl

28 The tertiary sector is not going to play any significant role in the development of
the Indian economy.” Do you agree with this? Give reasons in support of your
answer.

“JAOH &F YR Srfeawl & faeTd & P1g Aga@yul YA gt FHM ara g 1 &1 319 39 §1d 9
TEHd €2 30 I & HdT § SR |

Or
Suggest three ways to create employment opportunity in the rural areas
Iretor & H AR & AR U] B & o asics g
29. Explain any three differences between primary and secondary sector?

.U 3R fgdiae 83 & oig BIg diF 3icR §a1d?
Section D Long Answer Based Questions (4X5=20 Marks)

30. Discuss the significance of the Frankfurt Parliament. What were the demands of the
people, and why did the Parliament fail to achieve its objectives? .



e TG S Hed TR i DL | Al ol A o ff 3R e 30U 2T bl UId B H Al fawhd
81?2

Oor gl

Describe the process of unification of Germany. What role did Otto von Bismarck play in this
process?

STHA o TbIaRUT I Uichal &1 gl SIS | 39 Ufshan # 3fiet a1 fawd e 3 a1 Yt Hums?

31. Explain the factors responsible for land degradation in India. Suggest measures to solve the
problem of land degradation. .

URA H YA M0 o fiu StRerl sRe! &1 are & | Y Fiexor o 99 & Jae™= &
3T G|

ordgar

Explain the need for resource conservation. What steps can be taken to conserve natural
resources in India?

AT TREUT &1 TRl THSY | HRA | Wi AT o A& & ol 1 HaH o off
Tahd g2

32.Why do we need political parties? Explain the functions and necessity of political parties in a
democratic country like India.

B ISP gdl B ATTAH Fi g2 HRA S AIDhdiAd o= H oI Gal & H1Y Td
Il 9d13d |

ordgl

What are the characteristics of a political party? Explain any four functions that political parties
perform in a democracy.

foplt oI ga &1 T faRIvand Bt g2 didbad | oI Gal gRT fhd S ardl fhg! IR Sl
DI TRHT D1 |

33. What is the role of Self Help Groups (SHGS) in providing loans to the rural poor? How do
SHGs help in the empowerment of women in rural areas?

YTHI0T RIS &1 B0 UaH & § W0 Jeradl Sqg! (Tuudst) S 71 YHHT g2 Tadst Ao &= &
Afgarsit & gfdasor § $Y Aee Hd 572

ordgl

What are the various terms of credit? How do these terms differ between formal and informal
sources of credit?

hfec o faftrs 21 a1 82 A I U1 & Siu=iRe 3R ST Jidl & oig a4 i g
Section E Case Based Questions (3X4=12 Marks)

34. Read the source given below and answer the questions that follow:

= faw 1w =a 1 ae st Tasferted st F 397 &

It is said of “passive resistance” that it is the weapon of the weak, but the power which is the
subject of this article can be used only by the strong. This power is notpassive resistance;
indeed, it calls for intense activity. The movementin South Africawas not passive but active ...
'‘Satyagraha is not physical force.A satyagrahi does not inflict pain on the adversary; he does not



seek his destruction ... In the use of satyagraha, there is no ill will whatever. 'Satyagraha is pure
soul force. Truth is the very substance of the soul. That is why this force is called satyagraha.
The soul is informed with knowledge. Initburnstheflameoflove....Nonviolence isthesupreme
dharma...'ltiscertain that India can not rival Britain or Europein force of arms.In his famous book
Hind Swaraj(1909)Mahatma Gandhi declared that British rule was established in India, with the
cooperation of Indians,and had survived only because of this cooperation.If Indians refused to
cooperate,British rule will collapse within a year.

‘TATewa wfadrer & a1 | FglT SATaT ¢ 1o Tg FHSN T ZIAATT &, AR [Ore 911k il =1 20 o | il e
g, SHRTTIRTRAALT R g [ iR dTe | TGRSR TN AL I8 g g, ATeqd |, THeh [olT T T farrer &
AAITHAT BIAT &I ZTETIT STRIRT H QI M {ha Tg! afesm qihT ...

AT T I Aol gl TARIG! At i fET 981 agarar, a8 Sl [&T1er Ag! A1gdT... TANE &
TART | ToheT AT TR il TATaAT Aal gidl| TAWE E i g 19T gf ATCHT HT T1X gITHIT 37 9
T AATIE Fgd o | ATCHTSTH HIh gl gISHHITh SaTATSIAdgl... ATRdT 937 ¥ g...' Ig [i%a g &
AT TS % HIHAH Toled IT T FHT THREAT qg! HT THATIHGTARIT 7 a1 TT8E TEaF Raeairs
(1909) ® =roor it foF WAt & GgANT & A § el o s gan iR i g dnT & F0 a8
FAT TETITTE AT F TN il F TARTLRLISAT, AT Tofeer oo Uhad & Hia< af F91 gl S|

1. Why didGandhijisaythatpassiveresistanceisnottheweaponof the weak?

TSt 7 4T gt o Afow wfare Fase A &1 gf¥aaw 951 82 1

2. “Satyagraha is pure soul-force.” Substantiate this statement in 20 words

“HATIE & ATH-T1<h 17 THHATHT 20 o2 [T 2

3. What according to Mahatma Gandhi is the best weapon to use to collapse British rule in
India?

HETATTET F FqaTe aed # forfeer o= i @ew #3735 99 sy g F e 1

35.: Read the source given below and answer the questions that follow:

= 3T 10 = A 92 3 Meferterd vl & 397 &

Maharashtra is a state located in western India,with a population of over110million people. The
state is home to several large cities, including Mumbai, and has a significant agricultural
sector.However,the state is facing a severe water crisis,with its water resources coming under
increasing pressure due to climate change, industrialization, and urbanization. The main
challenges faced by water resource management in Maharashtra are:

i. Overexploitation of ground water:Maharashtra is one of the most groundwater- stressed
states in India, with the demand for water exceeding the supply. Overexploitation of
groundwater for agriculture and urban use has led to a decline in water levels, which has
severe implications for the sustainability of water resources.

ii. Pollution of surface water: Industrialization and urbanization have led to the pollution of
surface water bodies such as rivers and lakes.The pollution has ledto water quality
degradation, which poses risks to human health and the environment.

iii. Inefficient irrigation practices: The agricultura Isector is the largest user of water in
Maharashtra, accounting for around 80% of total water use. However, traditiona lirrigation
practices such as flood irrigation are inefficient and lead to the wastage of water.

HERTY Uil yRa ¥ A & 9 &, et el 110 fAfems @ it §1 =g 4o Afed
Fs IS TS B R B, 3R 3T U Hedyul H1Y &F | gaiifes, Isd THR oIt Tehe BT [ri1




B TG B, 39S oet FTEAT W Sietarg ufiadH, SNeiieur 3R Ugierur & BRI gaTd §¢ 8T
& | HERTY # O T1E Uae & I 3 aTelt 58 Iadl 6.
H| YOI T SRS Qg HERTY HRd H Gad 31 1Sidl-a-1d aral Il # 9 T g,
STgT Ot T JRT 1Yl O S 51 PV 3R e IWNT & T ot & i i d od
TR A fiR1ge 3 B, et oid IareHt ot fRRar iR 1R yvg usar g |
fgdla.  Ig! ST 1 UGHUT: SRR 3R EUHRUT b HRUT Afedl 3R hal okl Adg! o
YTl T UGHUT §¢ T § | UgWUl & HRUI Ut &1 Jurawt § R1ae off 8, Sff AFd W 3R
TgfaRor & oy @eRT der B B
ii 3P RiaTs Ugfadl: HeRTY # Sel BT IUIRT B JTcl G ST &F Y & 3, Sl
WWWWWWSO%%W,WWWWWWWM%@T
O BT FaTE! BT HROT S & |

1. Mention anyone reasons for thewater crisis faced by the state of Maharashtra.
HETTY ST o ATHA AT FT T Hehe o TorUaRTs Tk FHTLT 120l 1

2. Propose any one solution to mitigate the water crisis faced by
Maharashtrastate.

HETTY T5T o ATAA 3 a1 TAHTE DHIHHFLAR AT IS UH GHTETT TATSTIL
3. Despite being the second highest rainfall-receiving state of the country, Maharashtra
still faces water crisis. Substantiate this statement in 40words.
39T T T G SATerh qUT ATAT 15T g % ATASE, FGITg THIHT ST Fehe T FTHAT FL TG0
HESEREEIR VN EA ke

36.: Read the source given below and answer the questions that follow:

= faw o & 1 e s fReferfead oot & sl

HUMAN DEVELOPMENT REPORT Once it is realised that even though the level of income is
important, yet it is an inadequate measure of the level of development, we begin to think of
other criterion. There could be a long list of such criterion but then it would not be so useful.
What we need is a small number of the most important things. Health and education indicators,
such as the ones we used in comparison of Kerala and Punjab, are among them. Over the past
decade or so, health and education indicators have come to be widely used along with income
as a measure of development. For instance, Human Development Report published by UNDP
compares countries based on the educational levels of the people, their health status and per
capita income. It would be interesting to look at certain relevant data regarding India and its
neighbours from HumanDevelopmentReport 2006.

A4 faer RUE Te SR ofd I8 TeAN 8 Ol § foh Hal 8 3 &1 Wk Ayl 7, fhe off fawrg
& TR BT AT YA g, §H 3T AFCS! & IR & Al = HRd g | T AFCS & T el i
Bl Tl § Al dd T8 I IUTART T8l BN g T Hedyu! disll &1 U BIdT Y Tem &t
TIRTHT | W 3R e Ghasw, o b g1 HRa IR USE &t ga1 § IuanT foar o,
S8 9 U& §| FUsd TUT 0 o1 &, e & A0 & U T 319 & 9ry-T1 W 3R e
Thdd! & AMUS Y J ITANT fHar T T g1 IR0 & o, JuASI gRT UHIRG HHa
faera RO arml & Qferd W, 396 Wl &1 U 3R ufd fdd 3ma & SR W <=Ml & gaT
Rt g1 A faer RUié 2006 ¥ YR 3R 39S TSI & Y8 H $ URIAS fidws! o




T feerery g

1. On what basis the UNDP compares countries on Human Development?

AT TaahT % e 9¥ UNDP 39T il Tt e e 9% F:2dT & ? 1
2. Explain Human development briefly.
qT T o FEET § g9 1

3. Mention other aspects that should be considered in measuring human development.

qTHE feTe &1 919 § 59 7 qgett 9% = 5T ST Jrie v, SHET Soad w2

Section F (Map Based Questions) (1X5=5 Marks)

37. a. Two places A and B have been marked on the given outline map of India. Identify
them and write their correct names on the lines drawn near them.

A. The place where the Peasant Satyagraha took place.
B. Indian National congress session was held at this place in Sept.1920.

AT T30 70 @7 A 9 &7 09 A 3% B ifeha FohT 0 8 1378 99T Sle3=eh aTd i+ [ 5 Larat
T3 gl AT ford|

A. =€ T ST AT TATIE g Al

B. =0 ©IF 9 fAdaY 1920 § WA LT FHIUH F AT gall AT

Note:The following questionis for Visually Impaired Candidates only in lieu of Question
37 (a).

A. Name the place where the Peasant Satyagraha took place
B. Name the place where the Indian National Congress session was held in Sept 192

e Aeterted w1 Fae giearted sreatiaintruysT 37 (a) & TI9 97 2|
A. 3H T FT 0 IAT20 STl THATT I g o
B. I T T ATH qAT3USRI Hqa¥ 1920 H WA TEIT FH T A9 g A7l

37.b. On the same outline map of India locate and label any three of the following with suitable
symbols.

i.A softwareTechnology Park in Maharashtra. li A coal mine in Jharkhand.

lii The tallest dam in India. Iv A seaport located in west bengal
AT & @1 At 02 Fefotead § & fhgl i F 3T Tt & =i w7l .
R IR EE DR I EARIED ii. TTEE T UF FHIAAT G| ii.
ARARTETH AT | iv. IFSaTTe HRIqUaHa e Qg

Note: Thefollowing question is for Visuallylmpaired Candidates onlyin lieu of Q. No. 37 (b)
Answer any three of the following.

(i) Name the tallest dam built in India. (ilName a sea port in west Bengal.
(if)Name the coal mine in Jharkhand. (iv) the SoftwareTechnology Park of Maharashtra

e MHE T Thaag ST aqer e AT Teh T IHEaT 37 (A7) FEI\ el
BREIEICEE R B E RsRE L

i. g ¥ AT a9 SeatgFmHadul i, TS § U ST T 979 Fdr2u|

iii. ATEE & FHIAAT @S HT ATH A0 V. TETRTY 15T § HIS[E TIFeadL SahleAlsi aren




Note: Map For Question No. 37
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